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What is Physics?

An experimentally based science with a goal of
understanding and explaining the fundamental principles
that govern the physical universe.

“The goal of physics is to predict the future.”
—Dr. C. Fronsdal



Physics and Mathematics

Equations have meaning:

Equations allow quantitative reasoning: |
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Physics Has a Few Major Themes:

This semester:

1. Kinematics (how objects move)
2. Dynamics (why objects move)
3. Conservation of Energy

4. Conservation of Momentum

and other 1deas usually developed from the major themes.

When solving problems, look for the big idea first.



Units
A number without units is meaningless:

“I’m driving with a speed of 30.”

We cmzm:% use the International System of Units
(Systeme International (SI)) units.

Length: meter (m)
Time: second (s)
Mass: kilogram (kg)




Problem: You are traveling 65 miles/hour.
How fast is this in ft/second? meters/second?
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Problem: You are traVeling 30 meters/second.
How far do you travel in one hour?

(35) Vo = T2
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Rules

multiplying
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